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NEW
Part-1I1 3-Tier
2016
ECONOMICS
- {General)
PAPER—IV
Full Marks : 45
Time : 2 Hours

"The figures in the ma'rgin indicate full marks

_Candidates are required to give their answers in their

own words as far as practicable.

lllustrate the questions wherever necessary.

Group—A

Answer any two questions : 2x9

1. Why is rural development necessary for our country?
Briefly discuss about any two rural development policies
adopted by the Indian Government.

3+6



2. What are the institutional sources of rural credit in our
country ? Why do villagers in the developing countries
usually fall in debt trap? 5+4

3. What do you mean by Pie Diagram ? Draw a Pie Diagram

showing different expenditures of a company on the basis

of data given in the following table : 3+6

Different . Total amount of
Expenditure Expenditure (lakh Rs.)
Interest 97-:00
Administrative Expenditure 150-00
Management Cost ' 1332-00
Depreclation ) 294-00

Total 1573:00

4. (a) What are the appropriate steps in carrying out a
sample survey ?

(b) What are the advantages and disadvantages of using
Arithmetic Mean as a measure of Central Tendency ?
' 4+5
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Group—B

Answer any three questions from the following : 3x6

" Discuss the major steps in the preparation of a research

project. ‘ _ 6
What aré the different types of employment seen in rural

sector of a developing country ? 6

What is the need for rural industrialisation in countries

like ours? 6

What is the basic structure of decentralised planning in

rural India ? How does decentralised process function in

rural India? o 3+3

The following table gives the frequency distribution of
rainfall (in inches) in a certain area for consecutive

106 days : : : 6

Rainfall Number of days

(in inches)

0-5 5

5-10 10

10 - 15 . 25

15 - 20 . 20

20 - 25 18

25 - 30 ' 20

30 - 35 8

Represent the frequency distribution using a histogram.
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Or . ' A
The following table gives the frequency distribution of
number of goals scored per match. Find the mean of the

distribution : | | 6
Number of goals ' Number of Matches-
{x;) (fi}
0 2
1 5
2 12
3 _ 7
4 4

10. Discuss the advantages and disadvantages of cooperative ¥

farming. ' 6
Group—C

Answer any three questions : 3x3

11. What do you mean by Marketable Surplus? 3

12. Discuss any two major impacts of land reform in India.
3

13. Mention two purposes of long-term rural credit. 3
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~4 14, Determine standard deviation of the following data :

x:1,2 3, 4,5,6 7. ‘ 3
15. What is median ? Write two uses of median. 142

16. What is the full form of RRB ? State the functions of RRB.
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